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Fx 1504sksseotsiekkk 0826 bree bt R o) i R 2055 5
Hook 3208 kskksokkiok k2025 bR 1 5 i PG 77 G
sk 330 Iksksksokokkk 4029 bree bt R o) i JH 7 4855
Pk 2102%kk0kk0k 4 3228 bre 5 1 5 5 i 74 5 25
Fseok 4508skksctopsicosiok6 240 bree bt R 5 i NN e
728 330 2skskeksictotosiokok0049 Brg2bt 5 o B oA B2
ek 231 Iskokskokirk 0825 Bres it R 5 b o B
ek 3202skekiolotiokk 8430 br& 5 7 5 5 Bt Sl
ook 230 Lseketiokoiokk 0329 [ b 22 5% 57 5 5Bt e
fif %% 4109sssekssiesosiok 1 26 1 bree it 52 o) i e
i ok 150 Lseseseopsesork0 113 bree bt R 5 5 i Sl
Sk 3308skkeksototonokk 242 1 bRt 5 5y B SRl
172 43023k k08 x5k 3526 Bres it R 5 b G
EIES 21 06kstksckotosickok0038 bRt 5 oy e
B sk 421 Osksksetsiskseonsiek 1 544 [ B 22 55 2 5 24 Bt G
XJk 1309kkskk0k4x0 169 Bres it 2 o) b e
ot 410 Ltttk 008X bres it R 5 b S
Fj sk 4305%Fkk*kkkkkk%0014 [ B 22355 52 5 24 Bt SRl
stk 640 1 eckotsokoiokk 2436 Bres it R 5 b e
Tk 6104skkctortotorkok 1191 Bres it 5 o) b e
ek 21 1 Btttk 0843 bRt R 5 b ALY
ffser 44 forsskskkftotok k682X bR 2 5 B FENb
R 650 Ltttk 5023 bree it R 5 b FEML 2
THHK 510 Iskskkkokkk [9] 1 [ B 28355 52 5 24 Bt b 572 5 2
Hifjseok 3302tttk 006X [ b 22 5% 57 5 5Bt [ B B2 5
Bk 330 Tskkokkok k0048 bre 5t 57 5 Bt e
ek 500 sckkeotosiiek 7280 [ b 22 5% 57 5 5Bt ] b 57 5 5
ok 640 3skkkokkokox8£0024 br&e 5t 57 5 Bt bR 52 5
Flek 130 I skkkoordk 1222 et 2R 5 i bR )
Mk 42055k kkkkk4k 3025 brae 5t 7 5 Bt bR 5
ek 110 stk x4516 bres bt %R 5 5 i bR A 5
Hx 4203%kskkk8ok34k 1 538 bres it 2 5y b bR 5
fpRk 1526%sksokskkok% 1 505 bret bt %R 5 5 i bR 52 5 5
ok 370Qsskkstistottokek 0557 BRes it A 5y B bR 5
Ik 110 1 stttk 3727 et %R 5 i br A 5
Fook 110 Dskstsotopork 372X br&e 5t 57 5 Bt bR 5
XSk 450 ssksoksoiotokkok 542 1 et 2R 5 i BE
Tk 3T08kskkskkAk %7220 br&e 5t 7 5 i AT
Aok 410 Itttk 0060 bres bt R 5 i BE
Bk 3402skkskstkok k%4124 BRg2bt 51 2 bt SRl
ek 320 5skskeksctotoksickok 9645 Bre2bt R 5 2 b Gl
Hswok 452 Iskssknnkk (0026 bree bt R 5 i it
i 3402k kkdkk4%0025 bR R 5 % S fil
Sk 210 Ixsskkskkxrkd 120 bRt R 5 b AT
o B22BHAAAAAAAAKEA22 BRZ R 5 2 Sl
Aok 370 Tkttt 3222 bR 5 b St
Yotk AB0BHAAAAAAAK0328 BRZ R 5 2 Sl
ook 150230k 1028 br&t 5t 57 5 Bt it
B sekok 2103 sksksksksksksksksksk 3328 BREEE ¥R 5 5B LrE
Fowx 1528kttt k(0022 Brgebt 51 5 b SRl
i 500 Ltttk 5249 BRE R 5 2 Sl
Fiokk 1503%skk%3k5%%0520 bres it R 5 b S
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Bk 341 0ctotoloiokk00 10 bree bt R o) i G
S * 360 5sksteksctotoksickok044.2 bR it 9 o) 7 i Gl
Fjskox 5132%skkskkxk%0024 bree bt R o) i Gt
2k 341 3kkdokarctokarkk (002X Bra2bt 5 5 b S fil
Xk 41093k k0029 Brgeit 51 5 B LRl
Bk 6228kkksckekokickk 0440 br& 5 7 5 5 Bt Gt
2ok 3209tk k0425 bree bt R 5 5 i Sl
ok 320 2skkkslotorsokok 1 6211 bRt 5 oy 7 B SRl
Tk 3703tttk 4948 Bres it R 5 b Sl
Hkok 3505kkdkskdokkkk0043 BRZ 35554 5 5Bt £fib
stk 500 sk 0321 bree bt R 5 5 i Sl
Zxx 4405%kskskkotokkk 462X bRt 5 5y B SRl
s sese 500 sk k0220 bree bt R 5 5 i Sl
ks 341 Qskkstiorttoiek 2987 bRt 5 oy A
sk 4205%kkkkk5x%% 1 120 HE Pres bt 2R 5 i Sxfil
Tk 3T 02kkpkskodokakok 4527 Bre2bt 5 5 b Sl
Xl 431 2skssksicsotoriok0020 bres it R 5 b Sl
ok 310 sksteksickotorsiekok00 1 7 bres it 5 o) SRl
st 350 5skskeksctotorsikok0068 Bres it R 5 b Sl
fifjox 110 Liskotsotorsokkk8420 Bres it 5 o) b g
LIRSS 640 stttk 0 327 bRt R 5 b Sl
Fsok 452 2skdkskdoniok00 1X Bres it 52 o) Bt SRl
Ptk 3708tttk 336X bree it R 5 b Sl
(728 320 sksteoksolotorsiokk 552 1 Bres it 5 o) B SRl
Tk 610 skt 0444 Bres it R 5 b Sl
1Lk 441 2%kkAk k415026 Bra2bt 5 5 b Sl
Wyt 430 Lselotetsolotoriok3 71X bres it R 5 b Sl
Sk 460 skt [ 223 Brg2bt 51 2 b Sl
T 610 Lskstersiototorsiokok00 22 Bree it R 5 B SRl
Ji % 5101 ssksokok k3010 brae 5t 7 5 Bt S
[patex 450 kkkkkkkk0243 bres bt %R 5 5 i g
sk 310 sktewsokoteorsiokk 281 1 bres it 2 5y b G
ek 3304ksktoktokkkk 4420 bret bt %R 5 5 i Sl
Ptk 440535 kkskkokxk 0437 BRZ2 3% 5 5 b Gt
Pk 5105skskeksctotorsiokok 4840 et %R 5 i Sl
Bk 42055k HskkHkk4k0022 bRzt 1 5 F b S
st 3426keksciokokok 3825 Bree it R 5 B SRl
2ok 3202skskolokotokekeiok 4766 bres it 2 5y b SRl
sk 2306kskeksctooksckok 3026 Bree it R 5 B SRl
R s 3625kkictiokiokk 3416 PR 0F 51 5 b S fit
ek 4401 stttk (09 19 Bre2bt R 5 2 b Gl
Ji ek 210 stttk 5036 bres it R 5 b A
Zak 4104skkkkdokk4kx 0039 bR R 5 % S fil
sk 37 1 4sciotsoloiolk 5862 brez bt 1 o) i it
Fxx 3202%kdkkAkk %0526 b5 52 5 % B S fil
Itk 1305%skkkskokk% 3223 bres it R 5 b A
Tk 21 1 4tttk 0026 Bre2bt R 5 2 b Gl
Xk 35043kttt 0019 Pres it R 5 b G
ook 330 Lkttt 00 1 4 Bre2bt R 5 b Gl
IRk 140 3skkstctokatorokk 1 214 Brgebt 51 5 b SRl
ek 13063tttk 0022 Bre2bt R 5 b Gl
Aok 3303%skkskkrk%4249 bree bt R o) i Gt
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Tk 410 Tsksrsoksoniok(0103 bres it R 5 b S
IT stk 362 3sktksctotoksiokok 4035 bR it 9 o) 7 i Sl
Stk 330 Tk 0028 PR 22 351 52 5 2 Bt SRl
Bk 5109skskksickotoksickok8857 bRt 5 oy A
Ak 11023k%sk 555550063 bree bt R 5 i Sxfil
Xk 230 Lotttk 0046 PR it 5 oy 7 b A
i kek 51 1 Tssokstesieokok4 724 [l b 22 5% 57 5 5Bt Sl
2k 420 2skdokskodonkok 6526 bRt 5 oy 7 B A
ik 5329tttk 007 1 bree bt R 5 5 i B 2%
Tk 3320%HkkkAkkx %0820 Brg2bt 51 2 B B 5%
B sekok 220 kstokstetoskatokatok 771 1 [E Fr& 55 R 5 = Fi s
Bk 3505%skeksolokiokk 5545 bre 5 7 5 5 Bt ik
P 5109%skkskkk %4546 bree bt R 5 5 i B 2%
)k 421 0tttk 3828 bRt 5 oy B
XJseok 371 2%kskkkonrkx 0048 R UF 5 5 B Fi %%
Fwx 131 Dsokotekstotetek 322X Bres it 2 o) b B
Btk 522 ] skotsooaok k08 19 bret bt 2R 5 5 i B 2%
Lokt | 65435 kkksokiokkk0528 BRE2 B 52 5 B Fi %%
Ak 1309sskksckotsiekork 0022 bret bt R 5 S i B2
Xl 500 3kkkskotkakkk 87 3X [ B 22355 52 5 24 Bt ] s e 2%
HKesok 1305skksckosiokkk6 1 25 bret bt R 5 i NGE
fAT % 3205%kpkkAkk4%0016 [ B 22355 52 5 24 Bt ] s e 2%
fFekk 150 2skoksctosokokk 4528 bret bt 2R 5 5 i NGE
Aok 441 2sktsctorkorkk 001X Rz % 5 5 bt bR R 55
Aok 2202kl k 3822 bret bt R 5 5 i NGE
ik 5116%kkkkdokkxx0028 [ B 28355 52 5 54 Bt B v 55
ok 341 3otk k9029 bret bt R 5 5 i NGE
ok 650 Dktokskatokakotokx 1617 [ fr 22 355 52 5 24 Bt ] s i 2%
Xk 610 1 Hkkiokkiork 2945 et 2R 5 i NGES
Aok 130 Lskotsotorsolokk 2165 brae 5t 7 5 Bt PR 5%
g ok 342 4kkkkkk4 740 bres bt %R 5 5 i NGES
Aok 320 1ok k0829 brae 5t 57 5 Bt PR 5%
Wk 3706wk kkkkx 151X PR UF R 5 b R
SRk 14043880 442822 BRI 5 2 Bx bR %
FL*x 3704xskkekotoriiek8028 bRt it S 5 24 B b 45
sk 2108tttk 1013 bRzt 1 5 F b PR 5%
feok 120 Disksokpsokkk5425 et 2R 5 i NGES
Bk 4302skskopsoloook 2722 br&e 5t 7 5 i PR 5%
Bk 4101wkl kkk9545 PR UF 5 5 bt bR 5%
J 4105%kskk8855%0017 bRt R 5 b b i 55
Fx 110 1sdokskotokbokk® 2424 [ B2 55 57 7 22 e ] s i 55
ook 2104tttk 37 17 bR 5 b bR %
Bk 511 sksteoksiototorsickok0046 BRee it R 5 P NGES
i 21 1 4tttk 0644 bR 5 b bR %
ik 330 Lkt 622 BRZ R 5 2 bR %
Hsek 410 Ttttk 0824 bree bt R 5 i NGRS
Foxx 620 Dkkkskdokakotokx (0047 b5 52 5 % B ] s i 55
Ak 371 3xpkkkatoiokokk [ 24 1 [l b 22 5% 57 5 5Bt B s 55
2k 360 7Hkddkkdokk4%0623 bR 52 5 % s i 55
B kok 64224kskkototokiek (0240 BRERr R 5 2 N
e 520 Lk 3437 BRE R 5 2 bR %
Hsok 500 3sktetstctotorsiokek 0037 bree bt R o) i NGRS
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Ji 4108skscktotokiek(0390 bres it R 5 b b i 55
e 3209tttk 2529 PR bt 1 5 7 b bR R 55
Sk 3506skkksotottkok 7023 bree bt R o) i NGE
Ekx 110 stttk 4 121 [ B 22355 52 5 5 B B v 55
Fgsox 440635k x%6026 PR UF 5 5 b bR 55
gk 3T 1 2%kkkkkdokkk 0817 [l s 22 5% ¥7 5 Bt &l bR 5%
ook 3202k Kk Kk % 3562 5l br &t 5t 57 5y Bt FEl bR 55
ok 220 1xkkkdokkkk 1 826 bRt 5 oy 7 B NGRS
Fokk 6228 stk k (0647 R VF 5 5 B bR 55
s 3T0TkkkkkAckkk 0427 [l s 22 5% ¥7 ) Bt &l bR 5%
Tk 34053kt k k282X [ B 22 355 2 5 24 Bt [ s 7 2%
ok 110 Dskkskdokokkdokk 272 1 bRt 5 5y B NGRS
gk 3709skskskskk 4665 bR 28 5t B2 5 - e B
F sk 5 13Bkkkakkiokkk6183 bRt 5 oy NGRS
[k 450 Tsetsolopsolorsior 2042 R UF 5 5 B bR 55
ok 37 15hririonint 1455 SRR T S e 5T
Wy 5325kl k0063 bret bt 2R 5 5 i Ziasr 5
fisok 610 Ikt 3029 e < il
]k 5138skksieksieksiokk (0084 LrEhE g LEhg
ek 2202kkksksikdokkex4 53X =5 AT
Bk 431 0tttk 0054 e e
SRk 421 0ksksteskstekokekk k0028 o= 54 A=
Bk 110 Lskesotosokkk 3765 e e
Ex 4309kskskskskokstokskk (0924 T 5 A=
VAL 110 1skskstsksskeskotoksk 7742 LRl AR LEhg
A% 3T706kkkskkskekokkx924() =5 A=
Rk 372 3sskkckeksdokdok k0265 LrEhE g LEhg
B sk 4408%kwkkkkokk k(0226 ot 5 S

A ek 452 1 xksisketskekekkk00 10 AT it i
Zsx 140 2sskskskskekoskekokk 0028 = 5 S
Xl 4201 kksisksteskskokkk 4727 AT it i
PAIES] 410 kskstoskstekokekk k007 3 = 5 S
ks 1503 skkskksokkx3513 ki sl
ek 131 Qskskskskskestoskokok k4837 = 5 Ll
ks 41100k 7121 ki i
Sk 420 6%kkkkkskkkkk6825 ot 5 S
Xl 1308sksksksksksiskekokk (042X AT it i
i 51 39skskskskskoskokokkek 9873 = 5 Ll
Ak 4102%kskkskksiskskk 004X AT it i
sk 152 Isksoktotk 0624 R e T S fit

B sk 110 Isskskskskesioskkkk4 528 A= 54 Lrhl
Bk 511 Lkskskstekoskstoksok 065 1 L 4=Fh
fA] s 500 1 sksksksiottokknk 5423 LRhE R S fil

B sk 3602kkskskskoskkokkek (0323 =L 4
Pk 445 3%k kK54 %% 3728 il B Sl

A sk 610 Ikt 352 1 = 4
Ptk 1101 sekottotstoskorkd 827 R SRl
X% 1523%skcketsoloiok k0038 SR it
[ 3303skskksksioketokkek 0024 A= it LrE
Fpkox 3303kttt 7113 SRl SRl
FUES 1102sksksksksioskekoksk 002X A= it LrE
YTk 45025555k 0029 SRR AT
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W 4290% %k kkkx%%5141 R it
2 sk 500 Dk kxkk8920 SRR Sl
Yok 441 2k kKX 1966 R it
B sk 350 7ksksksksiskekokkek 0036 =54 Gl
Bk 1426wk 1 329 SRl LRl
Posox 360 4skkskskskdoskokkk 1312 A=A £fib
25 ok 3303sekstolettotiokk 3370 Sl SRl
Sk 3622kkkskskkdkkex 202X =54 Gl
s sk 3706%skkskkkokk 4643 G i Sxfil
sk 4203kkxkk k%% [ 589 SRR A
Fck 433 ] ksksisksdokskokk k5526 i 4t
[k 210 Tkskskskestoskekokskek 4 728 =54 Sl
B stk 4403kkxk555%%0 460 R AU Sl
sk 2106%skskscttkkk% 1 545 LRt S fil
Tk 4104%%x555%%%%0030 SRlERE Sl
Bk 371 Tkstskstekosksiokakok 1 62 1 T 5 Gl
ok 120 1 stk 38 1 X R U g
ek 430 Lokt 4669 e it
Hieskok 131 Istoopsoiorrx 344X R U Gl
Tk 3304 kskkskkskekokkek 5415 =5 Gl
sk 330Qskksiokkkkk 7616 R U sl
Pk 1101 sketkottoiork5313 R SRl
L 3425tk 285X R U Gl
Pk 2305kskskskkoskekokkek (0722 T 5 S
kek 3T702kkkskskkskokkk 352 1 AT it LRl
Fokox 3306kksksttokkx%x5039 SRl Sl
Ak 610 Iskksiokik8725 R U Gl
T kok 13063ksksksksksksioskekek (0324 ot 5 S
ok 350 5sskkskeksoksokk 1 537 LeEh g 4=
T 110 stttk 541 5 SrRleE R SRl
s 441 Qsitskskkk 5333 LRhE R Sl
Hx 610 ksksioskstokokekok k2846 = 5 S
Tk 321 Lkskskskesioskatokskok 571X AT 54 Grhih
1k 500 1kskskskstoskkokskek 6620 = 5 Ll
ek 1306skskskskskskskskokk (0329 LRl R Gl
Fox 3706kkkskkkskkok (00 1 1 ot 5 S
Tk 110 Issksksksiesioskekokk 4032 AT it i
Pk 5002:5kkkkk451 64 e T &t
sk 15043tk x:062X AT e U Sl
M 630 1 sksksksksiskeskkokk 0026 L Ll
B sk 340 1skskskstesksksiokkok 052 1 A= 54 Lrhl
Rk 3703 sksksksksioskodokskk 003 X = 4
Pk 450955k k5555003 1 il B Sl
Tk 3706kkkskskkkkekk (0043 L Ll
B sk 4105%kskkskskekekkk 5847 A= 54 Lrhl
[k 3209kkksskkekokkk (748 = 4
s sex 3403kttt kk %0432 SRR S fil
(S 3702k kkskkkckkkk 402 1 L Ll
FHiskek 4401 kkskstkskekkk 1 525 A= it LrE
15k 6403 kkkskskekskkk (0023 L Ll
s 341 0skkstiorttiek0033 AT e U Sl
Kook 1309*kkdobokokkkk (0328 e AT




a4 S{ESH PARENZEBR BIFEE
ek 2323tk kriok 1419 R AU 4Bl
VL 3307 skskskkkkdokkk 6328 e e
stk 440 Trokskksokkkrkd 451 e 4oEh
£ 522 Ttk 02 1 4 Py il
[k 1309skssksetsiskseokk 28 1 2 Py e
XiJsk 321 3xokskkkkkok 362X T e
Kok 210 Ixskkkrrrkd 031 SR ol
2k 2306k kstsktoksk 7112 Rl e
Tk 510 [ ssksksokokoroksk 6054 Rl ol
ek 511 Tssksstotesktorsk 0229 R ol
Tk 3206k kkxkkKK%%3016 SR e
ik 371 Btttk 3744 R e
ik 1101 sstskseotsieskskk k8826 Py e
B ok 530 4skskksiskkoksk 0645 R e
ik 410 T3kt 1 520 SRlERE Lol
gk 210 1skskskssotokskk 522 | R ol
el 37025kt 1 034 Rl e
Fkk 130 1 skskskskstoskokokkok 3922 A e
Bk 452 Ikskssokskonkok 2 74T Rl e
ks 321 Qs 5468 R T
J3Hx 3625k k%% 0022 SRz e
ek 1307 stk k5523 R T
sk 610 sksksksoiokkorior ] 712 Rl TR
fsketek 5101 skttt 0027 Py e
XSk 2306% ks kkkk 1 581 e TR
sk 4307kt 00 14 R T
Fkek 3306%kkkkkk 4k %0018 ] e i 22 P
Itk 43093kt 0049 BR T 22 pT
ZEkk 220 3ssksksksokkkk 0026 e e
=]k 2107 ksksksksoteokokokek 2427 A peTee
ok 433 ] sekstekssktokiok(0042 e e
it 1101 skskskskseskskokskk 9524 R 22 T
Fokek 1102kkskkskkkk%%0029 [ [ 7 2 B T
Jekok 420 ] sskskskskskskkkk 2727 A peTe
Fokex 3504 kkskkdokxkk4018 b 725 24 T
Xl 320 [ sssksksetotioksk 042 1 A peTee
[ 441 4ok 1 60 e e
ok 1306%kksskskskokk:0926 I 7 22 AT
Fixx 452 ] skstekskskokiok4 318 T ST
Rk 2105%sksksksiskdokskx (0324 N EA N
ik 1401 sesksokstokskskkok 1925 A LA
[tk 2103sksksksittekkkx 3023 I 7 22 A
ki 511 Issteksksksoksiork ] 466 A LA
B 5101 sksksksiottokkkx 2269 I 7 22 LA
fkx 1101 skeskstkstokskskseok 1 125 I 57 75 2 LA
Lok 3205kskskskskkekokkek (0020 LA ol
Xk 1304tk 1 226 bR 22 L
Skk 4503ksksiksdokkekk k2520 ] e i 22 R ST
f5Ek% 1301 stttk 092 1 7 7 22 I —
Tk 441 Hkserskstokstorsk k90 14 I 5 22 ARG
Xk 4206k k160022 bR 22 pen
ek 500 skttt 7867 A pen
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Fokx 371 3skkdokktokkkk 6034 B 2 b peT
ok 5108skskstiotokkekk 5428 T e
ok 371 Dbkttt k40069 bR 22 e
ek 360 | kssksksksokkiek 5326 T f
Tk 362 3skkckekokokokkk 0027 b 22 e
Kok 500 3skksksitsiokk 318 1 bR pen
Bk 3426sskkstsksktoksk 0259 A pn
2k 500 3sksksksksksteoksioiek ] 642 T pen
ik 3506wtk 1014 bR 22 T
Xk 3507 ket 0028 BT 2 pen
Bk 1422sskskstkskskokk 1 723 bR 2 B 23t
Bk 340 Lksksoksisiokok 052X BR e pen
TRk 110 1 sksstokoiokaknk 031X 7T 2 T
Fkex 3403skkkskkdokk k0026 b 725 24 peT
E 3506skskskskekiokok00 1 1 A pn
ok 1405%sksksckkokokok 0026 A pen
Rk 3425kt 0027 e pen
E 5109sksskskseoksioksk 762 1 A pen
FH sk 2327 xkkkkkkkk %0229 I 7o 22 e
HfJxx 500 1 skttt 0820 bR pen
Xk 1502:skskskskkeskesksiok 4520 T pen
Rk 4502%kskskskkokiok 0625 bR 22 pen
Hoex 610 1sksksiototokkxx00 12 b 22 pen
Ik 3709kttt ] 22X A pen
2% 321 sskskssokroksk00 24 T pen
33k 650 1 skskskkdsokskok k(072X bR S it
Fkek 6523 kkkkkkkAk %0023 I 7o 22 e
Pk 460 2sksksksksksksk k160022 bR e
Fokek 522 3%kkkkkkkk k(0027 b 725 24 e
% 6204kt ] 32X A pen
Tk 1306sskskstkskskskk 092X e pen
Ptk 152 1 sksksteoksiskokskskk 008 1 BRT 22 pen
ykok 331 Qskskstestestetetokekk 0 05 X (2 B2 TR L T
Fsek 2108%kskkskskskskskk452 1 15 B2 RS
ZEkk 210 | ssksksksootroksk 532X (2 B2 R G L
gk sk 330 5skkskeksiskokekoksk 232 A P EAER T
Wk 430 Tkt k k528 1 (= B2z L T
Rk 511 stk (07 10 = E e R
[ 340 | sssksksokkroksk 502 | (2 B2 R G L
Mok 630 1 sksksksottetokkk 082X = e R L L
A5 511 3sksskskskdokokkk4379 (=B 2% R L
i 41 1 skttt 0050 (= B2z P
Fokx 1309sskskskskskkokk k2111 2 2L R TR
Xk 290 7kttt %0225 = e AL 8
YLk 4509%kkskdkkak k(0719 (2 E 2 Rl L T
Mk 620 5%kkkkkkkk %0924 = 22 A2
Tk 5105skskskioiotokkekk 4367 (2 B2 AL [
Ox 51 34skskskskskskokokoksk (0422 15 B 22 RS
XlJx 371 5k k%8440 e R L T
PRk 500 2skskksksicskskkskk 2527 EISEA SRS
2k 3702sskskskskottoksk 00 3X 155 Vs AT 2
ks 430 Ttttk 7829 LB T3
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Hkx 3205%kkkkkkxkk 1263 155 B P
ok 3207kt ] 527 15 B
EL 140 I keterstereieskskskok 7567 15 R P
Tk 1102sksksskotototoosk 1 346 L5 M
ok 350 7ktkscottoriok 022X L5 Bk
Sk 14223tttk d 441 L5 ik
Xk 652 kskkskskokkkok(0428 155 B GRS
Lk 6403 kssksksksteokekik 0029 155 )
v 371 0otk 322 L5 Bk
Bk 3609skskeksickoksiokok 0622 P vk 2%
ek 42065 %k 5%3%% 2020 15 by 2
Bk 620 | sstskskssteoskrek 0022 155 Bvg 2%
Fokox 21 04sksksittokekekk 2428 15 Bk 2%
ZFk 5224tttk 6329 L5 bRyt
i 921 02skskskskskteoksiieok 1019 15 o 2
Pk 1 102sksksteskstskskskskk 0042 15 Bvg: 2%
fAT % 330 [ sksksksookoroksk 272X 5B vg 2%
Ak 420 Dotttooionork 1 721 L5 I R D
Tl 330 3sksksokokk 332 | 155 B B (JEEESE)
Bk 1101 stttk 1 446 15 € D
Xk 1302tk 51 26 1EEE B (JEEESE)
Ik 2390tttk 0026 L5 I R D
Pk 299 4ssscsicitokekekk 0425 1EEE B (JEEESE)
Bk 110 Dssootototooke 2 325 L5 P R D
bk 131 0skskstokstorseskskk 0 77X 155 B B (JEEESE)
AE*x 420 1 skskskskskfetkkk 362X V2R PR ()
Tk 350 1 skttt 0 1 14 155 B B ()
Xl 1101 stttk 5722 155 PR ()
ek 140 Isstsrsorsiokkokok 46 24 1EEEBE e (32
sk 9230 3skssksseskiokok 562X 15 PR ()
gk 4305sksksksksksksksiokk 0022 1EEEBE e ()
By 320 skskeksicksoksiokok0523 TEE R VR (312
i ke 4101 sekstersksksoriox00 1 4 = e ()
Sk 51055tk 2123 e PR ()
ZEkk 130 1skskseokstorssksek 521 LB B (32
PPk 4208%skskskskskokkok (0352 155 PR ()
Fxx 650 | sstkskskstokiork 0022 = e (32
T 522 Tkkorokokkk 9243 b P (%)
Fsk 371 Hsksksttetetetokekk 00 14 1EEEBE B (32
ok 331 Osksksksictetkokk k0 068 2k R ()
Fok 231 Tsksksteteteteokokekk 0027 HE L R =
ke 120 Tsksksteskskskskoskskok 101 1 YEYE 2L SR =
Pokok 370 Ttttk 1 246 HE L D = 2 e
sk 3709%kskkkkkkk %392 1 iiE 2L S B = 2 o P i = 2
ik 430 2skskskskskseiotk k502 1 HE L B = 2 1
Lok 410 skskstsksdokoskekok k0046 Yy YN EE = 22 % i = 2
ok 3702k 0063 HE L B = 2 1
ok 440 Tk Rk 5440 Wi B = 2 1 o i 1 = 2
Blxx 4102s%ksksksksksokkk 252X HiE L B = 2 1
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